
1
1 1

( φ)

1 : 1 1 : 2 1 : 3 1 : 4



1.1  

x

d) x = 3 l y = 3 + 0.75 = 3.75 3.75 kg

e) x = 4 cm, y = 24 4 = 6 6 cm
x ( cm)
y ( cm)

2 x y x y 1 y x

a) x cm y kg
b) x y cm
c) 40 km x y km
d) 0.75 kg x y kg
e) 24 cm2 x cm y cm

a) x 150 cm y kg
b) x 13 y cm
c) x = 2 y = 40 2 = 80 80 km

1. y x
a) x y
b) 2 x y
c) 2 A B 50 km x km y km
d) x y
e) 240 km x km y

2. y x x y 3

2 x y x y



6

1.2  

1 2 x

a) x 2 3 4.... y
b)
c) y x

x ( )
y

y x x y = 
ax

a) 2 3 4... x
y 2 3 4....

b) 2
c) b) y x 2

x y y=2x 2 y
x y = ax a y x

a

b) 1 2.50 x
y

c) 1 x y

x ( )
y

1 1 1 2 1 3 1 4

φ

V. L. T.

y x y = ax

x
y

x
y

x
y ( )

a) 1 80 x
y



1.3  

120 cm 1 6 cm
a) 120 cm
b) x x y
c) y y

x ( )
y cm

a) 1 6 cm 120 6 20 20
b)0 20 0 ≤ x ≤ 20 x 0 20 20

c) 0 120 0 ≤ y ≤ 120 y 0 120

x ( )
y cm

x y
(< >

≤ ≥)

x y

a) 20 1 2 x y

b) 20 1 0.5 x y

c) 0.25 200 0.25 x
y

x y

x

y

x

y ( )

x ( )

y



2. y = ax

6

1.4  

1 2 cm
0 0

cm x x y cm

a) 
x
y cm

3
(‒3 ) (0 )

3
(+3 )

b) y cm y = ax
c) y x

x -4 4 y

x
y cm

a)

b) 2 y = 2x
c) y = ax 2 3 4... x y 2

3 4...
x -1 -3 -1 3 y -2 -6

-2 3

b) y = ax x y
c) y x

x
y cm

1. 1 4 cm

a)



1.5   

1 2 cm
0 0 cm

x x y cm

a) 

x
y cm

b)y = ax
c) y x

3
(‒3 ) (0 )

3
(+3 )

x -4 4 y

y = ax a a < 0

1. 1 4 cm

b) y = ax
c) y x

x
y cm

b) –2 y = –2x
c) y = ax y x x 2 3 4...

y 2 3 4... x 1 3 1
3 y -2 -6 -2 3

2. y = ax

x
y cm

a)
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1.6   x y y=ax

y x x = 4 y = 12
y = ax

x y a

x y a

x = 4 y = 12 y = ax

y = 3x

1 y = ax

1.

2.

3. y = ax

1. y x y = ax a

2. 



2. y x

1.7   

a) c) y = ax

1. y x
a) x y
b) x y

c) 1 40 x y
d) 1 0.5 x y

e) 50 x y
f) 6 cm2 x cm y cm3

a) x = 4 y = 12

c) x = ‒2 y = 12

b) x = 4 y = –16

d) x = –12 y = ‒24

3. x y
30 1 2 x y

4. y x y = ax

b) 

5. 

a) y x x y
b) y = -3x y x

c) y x y = 3x x = 7 y = 10
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1.8   

O A x = 2 y = 3 x
= 2 2 y = 3

3

x = 2 y = 3 A

A A(2, 3) A O (0, 0)

A x = 2 y = 3

O 2 x y
x y 0 O

y

x



2. H I J K L M

3. 

1. A B C D E(3,6) F(-4,5) G(-3,5)
A(1, 4)



6 x x 0
x

x y
y = 2x

a)
b)

y 2x
y = 2x

y = 3x

6

1.9  1



1.10  2

y = -2x

a)
b)

y = ax O(0, 0) 1

y = ax x
y

a) O(0, 0)
b) 2



6

y = ax
a

1.11   y = ax

y = ax

6 2

y = ax

y = ax
1. 
2. x y y = ax a
3. a 2 y = ax

3
y = ax

1
(1, 3) x y

2
(-2, -6) x y

y = 3x y = 3x



1.12 

2 12 x y

a) y = ax
b) x y
c) y = ax

a) 2 y = 2x b)12 6 x 0 ≤ x
≤ 6 y 0 ≤ y ≤ 12

1. 8 km 1 2 km x y km

a) y = ax
b) x y
c) y = ax

2. 8 1 0.5 x
y

a) y = ax
b) x y
c) y = ax



6

2. 

3. y x

4. y = ax

1.

1.13   



a

a) 12 km x km y

2.1   

x ( cm)
y ( cm)

a)  

6 cm2

x cm y cm

xy x y = a (xy = a) (a x 0 ) y x
a x 2 3 4...

y a xy

b) 2 3 4... x y
c)
d) x y
e) d) y

b) 2 3 4... x y

c) 

d) 6 = xy

e) y y =      

x ( cm)
y ( cm)

b) 20 x y

c) 8 cm x x y cm



6

y x x

2.2   

a)  y = (xy = 12) x

b) 2 3 4... 0 < x x y
c) 2 3 4... 0 > x x y
d) x

b) y

d)  x y

y = y x

y = y = 
-6

y = 

c) y



x y
a

y x x = 4 y = 6 y = 

x y a
y = 
x = 4 y = 6

6 = 

y = 

xy = a x = 4 y = 6
4 6 = a
a = 24

y = 

y = 

1.

2.

3. y = 

1. y x y = 

a) x = 3 y = 5 b) x = 4 y = 2

2.

2.3 y =

c) x = ‒2 y = 7 d) x = 6 y = ‒3

e) x = 4 y = f) x = ‒3 y = ‒ g) x = ‒12 y = 
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2.4   

y = (xy = 12) 
a)
b)

b) (1.5, 8) (2.5, 4.8) (-1.5, -8) (-1.25, -9.6)

2



a)
b)

2.5   

y = (xy = ‒12) 

b) (1.5, ‒8) (2.5, ‒4.8) (-1.5, 8) (-1.25, 9.6)



6

a



3.1

x y = a a

2

1
1. a : b = c : d
2. ad = bc
3.

1 2

y x a b c d

a : b = c : d, ad = bc.

2 x = 6 y

3 y = 36 x
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3.2

x% y y x
90

d

a) 125 80 b) 750
450

a) 150 60

b) 16 cm 40



3.3   

a b c) 

1 4 1 2 a 2

454 d b 7.58 1000 2000

1.

a) b) 

c) c) 

2. 

a b c) 

a) 36

b) 1

10 100
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VAT 13
VAT 113

2
50 50

3. 2 20 3 40
50 2 40 3 30

4. 1 1
12

5

g

3.4 

1. VAT 13 VAT 90.40

2. 2 18
14

5. 100

( )

6. 20
50 1.50 1.50 1.00

1 60 1 60 1
1,000

100



3.5 

2 600 1
75

(x)
1 y

xy

(x)
1 y

2 3 1 2 4

1

1. ab = cd
2.

(x)
1 y

a) 1 50

b) 1 30

c) 60



1786

2



1.1   

kg

100

a)
b) 6,000,000 kg kg

1.
2.
3.

kg

a) 55% 25% 14% 6%

b) 6,000,000 =3,300,000; 6,000,000 = 1,500,000;

6,000,000 = 840,000   6,000,000 = 360,000
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1. 2014 1

a)
b) 200

3. 2012 2014

a)

b)

a)
b) 2,356,191 kg kg

2.

USA

c) 



1.2  

1

%

1.
2.
3.

2012 2015

1
100

100

2012 2015

% %

1

2

3

4

1 4 2 3

1 4 2 3
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1.

2. 2000 2008 7

a)
1

b) 2000
2008

a)
1

b)

% %



1.3   

1. 2015

a)

b) 10,415,400,000

2. 2011 2015 ANDA

a)

b)

c)

d) 2015 2011
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3. 2005 2015

a) 1

b)

2005 2015

c)

2005 (%) 2015 (%)



2.1  

a) ?
% ?

b) ? % ?

a) ? % ?
b) ? % ?

a) 65 39% b) 21 - 29 30%

(
)

1 ( )

( )

a) 50%
b) 10%
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1. 

1786

W
(1801).
The statistical
Breviary.

a) % ? 

b) % ? 
c) % ? 

a) B % ?   
b) ? % ? 
c) ? % ?   
d) 200

2.

A

B

C

D



a) (100%) 360 1% ?
b) 45% 15% 30% 10% ?

b) 1% 3.6

1.
2. (3.6 %)
3.

45%

30%

162 54
108 36

15%

10%

2.2 



7

( )

a) 450

?
b) 100

?
c) ?

a) 
(450 100) 6 = 27

27

45
90

103.5
184.5

23%

41%

20%

10%
6%

b) 

500
83

83

1.

2.

30%

25%
20%

15%

a) 250
?

b) 50
?

c)
?

10%



2.3  

2. 

50%

5%

15%

10%

1.

a) ( )
b)

%

20%

a) 4,200 ?
b) 30 ?  
c) ?  



1500



1.1   

1. A B
a) A
b)A B

2. XY 
a) P XY
b)P XY

1. a) A

b) 2

2. a) XY 

b) P

a) A B AB
l m

b)A B AB AB
AB

c) 2 AB CD
AB = CD ( ) 

AB AB.
d) 1 90

(Ʇ) AB
Ʇ CD AB CD

e) 2
( ǁ ) AB ǁ CD

AB CD

1.
( ǁ ) ( Ʇ ) 

AB CD
AB AD
AB BC

2.
( ǁ ( Ʇ ) 
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1.2  

a) 1
b) l 1
c) 1 A 90

a) 1 9 5 12
b) l 1 3
c) 1 90 4

(1898 - 1972) 

/ No.76 1949 
M. C. Escher

www.mcescher.com
M. C. Escher



2.
1

1.

l m A 

a) 1 5

b) 1

c) m
1 l
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1.3   

1. 1
2

a) A C A' C' 
b) AA' CC'
c) AA' CC'
d) 2 1

2. ∆A'B'C' ∆ABC OP
4 2

a) 2 AA′, BB' CC'
b) a)

A, B,C
∆ ∆ABC 

ABC

AA' ǁ CC' AA'= CC'

1. ∆ABC AA' AA'
∆A'B'C'

2. ABCD A'B'C'D'
OP

c) AA' CC' AA' ǁ CC' AA'= CC' 
d) 2 1

1. a) b)

b)
AA' ǁ BB' ǁ CC' AA' = BB' = CC'.



1.4   

2. A'B'C'D' ABCD

a)
b) a) l
c) CC' l M 
d) CM CʹM

1. 1 2
a) 2 A' B' 1 A B 

b) 2 1 

b) 

b) l
(Ʇ)
AA' Ʇ l. 

d) CM C‘M  

CM = C'M.

2
CC Ʇ l CM = C'M 

l CC' CC'

l m

m

AB = BC

2. a) c)
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1.5   

1 2
a) 1 A B A‘ B’ 2 
b) 2 1 

b) 1 O 180 2 

BOA OB OA 

O ∆ABC 60 ∆A'B'C'

a)
b) A A'

a) OA = OA'
b) OA O 

180

O ∆AOD 180



1. ABCD O 90 A'B'C'D' 

2. ∆ABC O 90 ∆A'B'C' 

3. C



3. 1 2 8

1.6 

∆A'B'C' ∆ABC 

∆ABC C 90 CC’ C 
C' 

∆ABC ∆A'B'C' 2

1.
a) ∆ODG ∆OAE
b) ∆OBF ∆OAE
c) ∆OCF ∆OAE

2. 2 a) b) 
a) 2 1 1 C D C' D' 

2
b) 2 1 

1 2

1 2



2. a) b) c)

2.1  

2. a) 180 b) 90 c) 45

A B 2
AB A͡B

OAB O A ͡B
l

A͡B

a) b) c)
1. ? d)
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O AB A B A ͞B
?

2

2

A͞B O A͞B

2. 5 cm 5 cm

AB

AB

1. 



2.2   

a) b)

2 2
2 2

A B 2 P Q
AB PQ M

AQBP
a)
b) PAB ?
c) P ͞Q A͞B ?

a) A͞P A͞Q B͞P B͞Q P͞M Q͞M
b) QAB
c) PQ͞ Ʇ A͞B

2 2

1.
a) AM = MB ?   
b) AM = MB AQBP ? 

2

b) a) 

2. AB

a) b) 
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2.3   

a) f)
1

6
120

AB BC CA

GH = GB = HB

HGB = GBH = BHG = 60

GAH = 120 = GAB
A͞H = A͞B

H B GE HF BD
A

ΔGBH 120

3

a) A
b)



2.4   

l P

1. P l
2. P l A B

3. A B 2
C

4. PC

1. P l

2. ∆ABC
a) A B ͞C
b) C A͞B

2
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2.5 

PQ

PQ

1. ABC
a) A B ͞͞C
b) B A͞͞C

2. ABCD A͞B D͞͞C

P l

ABCD

l P l Q
PQ P l P l

PQ < PR

l m l
m

P l



2.6   

A͞B A B 2 C
D CD

2
2 2 2

a b A͞B

90 2
AB

A B l
AB

a) 2 l l Ʇ A͞B
b) B A AM = BM
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1. AB

2. A B l

P A͞B l P͞A P͞B

PA = PB

A B

A B AB
A B

2
M

MA BM



2.7   

XOY 2

1 O
A

B
A

2 1
B

3 P
P

1. O A B
2. A B P
3. OP

2

2

DOC = COB = DOB



8

1. AOB

2.∆ABC

AOB P

3.
a) B ͞C D͞C
b)
c) 2 ?



2.8   

O AB

a) OE
b)OE A͞B

a) 3
1. O C D
2. C D 2 E
3.EO

b)A͞B 180 OE AOE = 90

A

a)
b)

A OA 2
2 P AP A

1. A 2. C ∆ABC AB

O 1



8
30 12 cm

a = 30 r = 12

l = 2π 12 = 2π 12 = 2π

2.9   

9 cm
l = 2π 9 = 18π.

1. 180

r
π = 3.14159...

a

l = 2πr

2. 60

360

1. 45 4 cm

2. 50 cm 72
?

l = 2πr



2.10   

1. 90 2. 45

S = πr2 

A = π r2.
r π = 

3.14159...

S = π 152 = π 15 2 = 15 π

2.

S 16π S 16π

360

24 15 cm

a = 24 r = 15

4 cm

1. 120 9 cm
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2.11   

ABC CAB P

P A͞B B ͞C ABC
CAB A͞B A͞C

P A͞B B ͞C AC͞ P B ͞C AC͞
BCA

1 P 3 2 3 P
3

1 2

P 3
3

1. ∆ABC AB = 4 cm BC = 3.5 cm AC = 3 cm

a) A B ͞C
b) B A ͞C
c) C A͞B
d) ∆ABC

2. A

3. 8 cm 60
A) 

b) 



a) h)

1 a) d) poliedro

πολύς (polys)
έδρα (edra)

a) c) b) d)

f) h)
a) b) c) d)

a) h)

3.1   
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1. 

2.
a)
b)

a) a) b) b)



3.2   

a)
b)
c)

1. 

2. 
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a)
b)
c)

3.3 

a)
b)
c)

3

2 (
P Q R

• 2

1

a) 1 b) 2 c) 2

• 3 1



a)
b)

a)
b)

E͞C

1. 

a)
b)
c)
d)

2. 

2
l m

2

a)
b)
c)
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a) AB BC

b)AB BD

c) AB P

3.4   

l P
O l P

l P

P A 

A Q

Q A Q

l P l P O

a) l Ʇ m
b) l Ʇ n
c) l Ʇ P AB P



2 2

2.

a)
b)
c)

1. P

a)
b)
c) P
d) P
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3.5   

•
•
•

a) b) c) 

1.

2. 2

a) b) c) 



3.6  

a)
b)

1 2 3

3 3

3
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1. 

2. 



3.7   

4 2

1 5 2 = 10 cm2

1 2 2 = 4 cm2

Al Ab
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AT = Al + Ab

1.

3. 

a)

b) 

2. 



3.8

AT = Al + Ab

Al Ab

2. 

4 1

1. 

1
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3.9   

a) A͞D
b)

AD = 2π 3 = 6π cm

b)

Ab = 2π 3 3 = 18π cm2

AI = A͞D A͞B = 6π 6 = 36π cm2

AT = 18π + 36π = 54π cm2

= + 

r h

2. A B

1. 

a) A͞D 
lc = 2πr.



1. P

2.

3.

3.10   

a)
b)EຊD
c) AB
d) P




